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QUESTION 1

Which two modeling approaches could be used to handle exceptions thrown by a service? (Choose two.)

A. subprocess

B. event subprocess

C. error and event

D. error catch event as a boundary event on the service task

Correct Answer: BD

Explanation: You can handle the exceptions that occur in an activity using the following:

*A boundary error catch event

*An event subprocessBoundary error catch events enable you to resume the main process flow after handling
theexception.If you want to reuse the exception handling flow for multiple tasks in your process, then
eventsubprocesses are more efficient than boundary catch events. Event subprocesses enable you todefine a cleaner
process with less effort because the catch error event is located within the eventsubprocess. To reuse an exception

handling flow using boundary catch events, you must define aboundary catch event for each of the tasks, and then
connect those boundary events to theexception handling flow.

QUESTION 2

Which action enables support for virtualization through libOVD?

A. Update the order of the WebLogic authentication providers to put the LDAP providers first.

B. Use Enterprise Manager or WLST to add the virtualize=trueproperty to the SOA Common Properties MBean.

C. Use Enterprise Manager or WLST to add the virtualize=trueproperty to the domain level Identity Store Configuration.
D. Update the domain directory to include a valid libOVD adapter configuration file under the config/fmwconfigfolder.

Correct Answer: C

QUESTION 3

Identify the gateway type that disallows an outgoing conditional path.
A. Exclusive

B. Inclusive

C. Parallel
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D. Complex
Correct Answer: C
Explanation: A Parallel Gateway creates parallel paths without checking any conditions; each outgoing Sequence Flow

receives a token upon execution of this Gateway Reference: http://training-
coursematerial.com/training/BPMN_2.0_Gateways#Parallel_Gateway (See Parallel Gateway, 2nd line).

QUESTION 4

You have a requirement to dynamically assign tasks at run time based on the employee\\'s title. Which three could be
used to accomplish this assignment? (Choose three.)

A. Use parametric roles to map the individual parametric role assignments and then map individual users to specific
titles in the workspace using extended user properties.

B. Use parametric roles to map the individual parametric role assignments and then map LDAP groups to specific titles
in the workspace using extended user properties.

C. In LDAP, ensure that individual users have been given titles and, in the workspace, associate the LDAP title attribute
to a parametric role.

D. Use a business rule in the human task to dynamically assign work items to specific users or an LDAP group based
on employee title.

E. In the process, edit the properties of the swimlane and assign a "title" string data object in the process payload to
define a parametric role.

Correct Answer. ABD

QUESTION 5

Which statement is an unsupported scenario for virtualization through libOVD?

A. Dynamic groups used to determine group membership.

B. Users and groups used for task assignment are stored in a relational database.

C. Users and groups used for task assignment are stored in an external LDAP server or the embedded LDAP server.
D. Users and groups used for task assignment are stored in multiple external LDAP servers.

Correct Answer: C
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